

WAVELET DECOMPOSITIONS IN $L^2(\mathbb{R}^2)$

WU ZHENGCHANG*

Abstract

Let $\{V_k\}_{k=-\infty}^{+\infty}$ be a multiresolution analysis generated by a function $\phi(x) \in L^2(\mathbb{R}^2)$. Under this multiresolution framework the key point for studying wavelet decompositions in $L^2(\mathbb{R}^2)$ is to study the properties of W_0 which is the orthogonal complement of V_0 in $V_1 : V_1 = V_0 \oplus W_0$. In this paper the author studies the structure of W_0 and furthermore shows that a box spline of three directions can generate a wavelet decomposition of $L^2(\mathbb{R}^2)$.

§1. Introduction

Recent years the wavelet decompositions in $L^2(\mathbb{R}^s)$ have drawn a lot of attentions. It is not surprising that the literatures about wavelets grow rapidly since the wavelet decompositions show its power both in the field of pure mathematics and in its applications.

It is natural and necessary to consider the general wavelet decompositions in $L^2(\mathbb{R}^s)$ ($s > 1$). In this paper we study the case $s = 2$. One reason for studying this case is that the case $s = 2$ may be most important in practical applications among the multi-dimensional cases. In addition the wavelet decompositions in higher dimensions (e.g. $s > 4$) should be dealt with in a different way from the case $s = 2$ (as explained in a special case in [9]). We hope that it would be studied in the forthcoming paper.

Here is the outline of this paper. In §2 some notations and lemmas are given. In §3 we study the wavelet decompositions in $L^2(\mathbb{R}^2)$. In §4 we discuss the orthogonal wavelet decompositions in $L^2(\mathbb{R}^2)$. The result which we obtained contains the main theorem in [9]. Finally as a consequence of our theorem in §3 we claim that box splines of three directions generate wavelet decompositions. It is well known that in the case $s = 1$ B -splines generate wavelet decompositions which were widely applied in some practical fields. We believe that the box splines would play an important role in wavelet decompositions in the case $s = 2$ as B -splines do in the case $s = 1$.

§2. Preliminaries

Throughout this paper we use the standard multi-indices. The definitions of the summation over multi-indices and the convergence of multiple series in some metric sense are as usual (for example cf. [7, 10]).

Let $\phi(x) \in L^2(\mathbb{R}^2)$ be a function with compact support and

$$\phi_{kj}(x) = \phi(2^k x - j), \quad k \in \mathbb{Z}, j \in \mathbb{Z}^2.$$

Manuscript received November 1, 1990. Revised January 14, 1992.

*Department of Mathematics, Zhejiang University, Hangzhou 310027, Zhejiang, China.

We consider a multiresolution analysis generated by $\phi(x)$;

$$\cdots \subset V_{-1} \subset V_0 \subset V_1 \subset \cdots$$

$$V_k = \overline{\text{span}}\{\phi_{kj}(x), j \in \mathbb{Z}^2\}, \quad (2.1)$$

where the closure is in the sense of $L^2(\mathbb{R}^2)$. For the detail about the multiresolution analysis see [6,8]. For our purpose here we emphasize the following conditions:

- (1) $\{\phi(x-j)\}_{j \in \mathbb{Z}^2}$ constitute an unconditional basis of V_0 ,
- (2) in the sense of L^2 (see (2.1))

$$\phi(x) = \sum_{\alpha \in \mathbb{Z}^2} a_\alpha \phi(2x - \alpha) \quad (2.2)$$

for some coefficients a_α which have exponential decay.

These requirements are not much restrictive for practical purposes^[4].

Here a sequence $\{a_\alpha\}_{\alpha \in \mathbb{Z}^2}$ is called exponential decay if there are constants $L(>0)$, $\lambda(>0)$ such that

$$|a_\alpha| \leq L \exp(-\lambda|\alpha|),$$

where $|\alpha| = |i| + |j|$ for $\alpha = (i, j) \in \mathbb{Z}^2$.

Remark. Instead of (2) we can consider (2.2) for some such a_α that $\{a_\alpha\} \in l^2$. Then the relevant proof in the following should be modified slightly without difficulties.

Let W_0 be the orthogonal complement of V_0 in V_1 :

$$V_1 = V_0 \oplus W_0. \quad (2.3)$$

To obtain wavelet decompositions in $L^2(\mathbb{R}^2)$ the key point is to study the structure of W_0 . In the case $s = 1$ it is clear^[6,8] that there is a function $\psi(x) \in L^2(\mathbb{R})$ such that

$$W_0 = \overline{\text{span}}\{\psi(x-j) : j \in \mathbb{Z}\}.$$

When $s > 1$, the situation is different. In our case ($s = 2$) we will claim that there exist functions $\psi^{(i)}(x)$ ($i = 1, 2, 3$) such that

$$W_{0i} = \overline{\text{span}}\{\psi^{(i)}(x-r) : r \in \mathbb{Z}^2\}, i = 1, 2, 3,$$

$$W_0 = W_{01} + W_{02} + W_{03},$$

which obviously gives the structure of W_0 . Then in terms of the multiresolution analysis a dense system in $L^2(\mathbb{R}^2)$ is constructed in a standard way^[8]. It provides so-called wavelet decompositions. Hence the main goal of this paper focuses on the study of the structure of W_0 .

Now we introduce some notations.

Let $\mathcal{C}^2 = \{z = (z_1, z_2) : z_i \in \mathcal{C}, j = 1, 2\}$ be a 2-dimensional complex space. D denotes the open polydisc

$$D = \{z = (z_1, z_2) \in \mathcal{C}^2 : |z_j| < 1, j = 1, 2\},$$

and ∂D denotes the boundary of D :

$$\partial D = \{z = (z_1, z_2) \in \mathcal{C}^2 : |z_j| = 1, j = 1, 2\}.$$

When $z = (z_1, z_2) \in \partial D$, we often write

$$z = \left(e^{-i\frac{\omega_1}{2}}, e^{-i\frac{\omega_2}{2}} \right),$$

where $\omega = (\omega_1, \omega_2) \in \mathbb{R}^2$.

Let $e_0 = (0, 0)$, $e_1 = (1, 0)$, $e_2 = (0, 1)$, $e_3 = (1, 1)$, $E = \{e_0, e_1, e_2, e_3\}$. The type of the summation $\sum_{e \in E} F(e)$ always means $\sum_{i=0}^3 F(e_i)$.

For sequence $\{a_\alpha\}_{\alpha \in \mathbb{Z}^2}$ we formally introduce its symbol

$$a(z) = \sum_{\alpha \in \mathbb{Z}^2} a_\alpha z^\alpha,$$

and its subsymbol ($e \in \mathbb{Z}^2$)

$$a_e(z) = \sum_{\alpha \in \mathbb{Z}^2} a_{e+2\alpha} z^\alpha.$$

Here $z = (z_1, z_2)$.

The symbol of a sequence is useful notion for treating sequences^[3]. The relation between the symbol and the subsymbol is described in the following lemma.

Lemma 2.1. Suppose $\{a_\alpha\}_{\alpha \in \mathbb{Z}^2} \in l^1$, $z \in \partial D$. Then

$$a(z) = \sum_{e \in E} z^e a_e(z^2). \quad (2.4)$$

Conversely

$$a_e(z^2) = 2^{-2} (z^{-1})^e \sum_{\tilde{e} \in E} (-1)^{e \cdot \tilde{e}} a((-1)^{\tilde{e}} z). \quad (2.5)$$

Proof. (2.4) is obvious. Let $\tilde{e} \in E$. From (2.4) it follows that

$$\begin{aligned} \sum_{\tilde{e} \in E} (-1)^{\tilde{e} \cdot e} a((-1)^{\tilde{e}} z) &= \sum_{\tilde{e} \in E} (-1)^{\tilde{e} \cdot e} \sum_{e \in E} (-1)^{\tilde{e} \cdot e} z^e a_e(z^2) \\ &= \sum_{e \in E} z^e a_e(z^2) \sum_{\tilde{e} \in E} (-1)^{\tilde{e} \cdot e} (-1)^{\tilde{e} \cdot e}. \end{aligned} \quad (2.6)$$

Noting

$$\sum_{\tilde{e} \in E} (-1)^{\tilde{e} \cdot e} = 4\delta_{e_0 e}, \quad (2.7)$$

we obtain (2.5) from (2.6), (2.7).

Let $\alpha \in \mathbb{Z}^2$,

$$\gamma_\alpha = \int_{\mathbb{R}^2} \phi(x) \overline{\phi(x - \alpha)} dx$$

and the symbol of $\{\gamma_\alpha\}$ be $I(z)$. Since $\phi(x)$ has compact support, $\text{supp}(\gamma) := \{\alpha : \gamma_\alpha \neq 0\}$ is a finite set. We have

Lemma 2.2. For $z \in \partial D$ holds $I(z) > 0$.

Proof. First we show

$$\sum_{\alpha \in \mathbb{Z}^2} |\hat{\phi}(\omega + 2\pi\alpha)|^2 = I(z^2),$$

where $\omega = (\omega_1, \omega_2) \in \mathbb{R}^2$, $z = (e^{-i\frac{\omega_1}{2}}, e^{-i\frac{\omega_2}{2}})$.

Let

$$C(y) = \int_{\mathbb{R}^2} \phi(x) \overline{\phi(x - y)} dx, \quad f(y) = C(y) e^{-i\omega y}.$$

we have

$$\hat{f}(u) = |\hat{\phi}(\omega + u)|^2. \quad (2.8)$$

Now by the Poisson Summation formula

$$\sum_{\alpha \in \mathbb{Z}^2} |\hat{\phi}(\omega + 2\pi\alpha)|^2 = I(z^2). \quad (2.9)$$

Suppose

$$C = \{C_\alpha\}_{\alpha \in \mathbb{Z}^2} \in l^2, \quad S(\omega) = \sum_{\alpha \in \mathbb{Z}^2} C_\alpha e^{-i\omega\alpha}.$$

Note the periodicity of $S(\omega)$. Then

$$\left\| \sum_{\alpha \in \mathbb{Z}^2} C_\alpha \phi(x - \alpha) \right\|_{L^2}^2 = \frac{1}{(2\pi)^2} \int_{[0, 2\pi]^2} |S(\omega)|^2 \sum_{\alpha \in \mathbb{Z}^2} |\hat{\phi}(\omega + 2\pi\alpha)|^2 d\omega. \quad (2.10)$$

It is obvious that

$$\frac{1}{(2\pi)^2} \int_{[0, 2\pi]^2} |S(\omega)|^2 d\omega = \|C\|_{l^2}^2.$$

From (2.9) we know $I(z) > 0$ ($z \in \partial D$) because $\{\phi(x - j), j \in \mathbb{Z}^2\}$ is an unconditional basis of V_0 .

§3. Main Result

In order to describe our main result, set

$$\overline{b^{(1)}(z)} = z^{-e_1} z^{e_2} I((-1)^{e_1} z) a((-1)^{e_1} z),$$

$$\overline{b^{(2)}(z)} = z^{-e_2} I((-1)^{e_2} z) a((-1)^{e_2} z),$$

$$\overline{b^{(3)}(z)} = z^{e_1} I((-1)^{e_3} z) a((-1)^{e_3} z).$$

It is obvious that we can write $b^{(i)}z$ as follows

$$b^{(i)}(z) = \sum_{\alpha \in \mathbb{Z}^2} b_\alpha^{(i)} z^\alpha, \quad z \in \partial D, i = 1, 2, 3,$$

where the coefficients $b_\alpha^{(i)}$ have exponential decay. Then we define

$$\psi^{(i)}(x) = \sum_{\alpha \in \mathbb{Z}^2} b_\alpha^{(i)} \phi(2x - \alpha), \quad i = 1, 2, 3.$$

Now we are in a position to prove the following

Theorem 3.1. Suppose

$$\sum_{e \in E} (I((-1)^e z) a((-1)^e z))^2 \neq 0 \quad (3.1)$$

for $z \in \partial D$. Then

(1) $W_0 = W_{01} + W_{02} + W_{03}$, where

$$W_{0i} = \overline{\text{span}}\{\psi^{(i)}(x - \alpha) : \alpha \in \mathbb{Z}^2\};$$

(2) for $C = \{C_\alpha\}_{\alpha \in \mathbb{Z}^2} \in l^2$,

$$A\|C\|_{l^2} \leq \left\| \sum_{\alpha \in \mathbb{Z}^2} C_\alpha \psi^{(i)}(x - \alpha) \right\|_{L^2} \leq B\|C\|_{l^2}, i = 1, 2, 3,$$

where A, B ($0 < A \leq B$) are constants.

Proof. First we claim $\psi^{(i)}(x) \in W_0$. In view of orthogonal decomposition (2.3) this is equivalent to

$$\langle \phi(x - \alpha), \psi^{(i)}(x) \rangle = 0, \quad \forall \alpha \in \mathbb{Z}^2, \quad (3.2)$$

$$\psi^{(i)}(x) \in V_1. \quad (3.3)$$

From the definitions of $\psi^{(i)}(x)$, (3.3) is obvious.

By (2.2) and the definitions of $\psi^{(i)}(x)$ we know that (3.2) is equivalent to

$$H_\alpha := \sum_{\beta \in \mathbb{Z}^2} \sum_{\theta \in \mathbb{Z}^2} a_\beta \overline{b_\theta^{(i)}} \gamma_{\theta-2\alpha-\beta} = 0, \quad \alpha \in \mathbb{Z}^2.$$

Taking the symbol of $\{H_\alpha\}$ equivalently we should show

$$\sum_{e \in E} \sum_{z \in E} a_e(z) \overline{b_e^{(i)}(z)} I_{e-e}(z) = 0, \quad z \in \partial D. \quad (3.4)$$

By Lemma 2.1

$$\begin{aligned} & \sum_{e \in E} \sum_{z \in E} a_e(z^2) \overline{b_e^{(i)}(z^2)} I_{e-e}(z^2) \\ &= \sum_{e \in E} \sum_{z \in E} \left(\sum_{e^* \in E} 2^{-2} (z^{-1})^e (-1)^{e^* \cdot e} a((-1)^{e^*} z) \right) \overline{b_e^{(i)}(z^2)} I_{e-e}(z^2) \\ &= 2^{-2} \sum_{e^* \in E} \overline{b^{(i)}((-1)^{e^*} z)} I((-1)^{e^*} z) a((-1)^{e^*} z). \end{aligned} \quad (3.5)$$

By the definitions of $b^{(i)}(z)$ one can prove that (3.4) follows from (3.5). Thus $\psi^{(i)}(x) \in W_0$ ($i = 1, 2, 3$).

Now we show that for $\psi^{(i)}(x)$ ($i = 1, 2, 3$) we can find sequences $\{C_\alpha^{(i)}\}$ ($i = 0, 1, 2, 3$) with exponential decay, which satisfy

$$\psi(2x - e) = \sum_{\alpha \in \mathbb{Z}^2} C_{e-2\alpha}^{(0)} \phi(x - \alpha) + \sum_{i=1}^3 \sum_{\alpha \in \mathbb{Z}^2} C_{e-2\alpha}^{(i)} \psi^{(i)}(x - \alpha), \quad (3.6)$$

where $e \in E$.

We know that (3.6) is equivalent to

$$\hat{\phi}\left(\frac{\omega}{2}\right) z^e = \left[\sum_{\alpha \in \mathbb{Z}^2} C_{e-2\alpha}^{(0)} z^{2\alpha} a(z) + \sum_{i=1}^3 \sum_{\alpha \in \mathbb{Z}^2} C_{e-2\alpha}^{(i)} z^{2\alpha} b^{(i)}(z) \right] \hat{\phi}\left(\frac{\omega}{2}\right),$$

where $z = (e^{-i\frac{\omega_1}{2}}, e^{-i\frac{\omega_2}{2}})$. It follows that

$$z^e = C_e^{(0)}(z^{-2}) a(z) + \sum_{i=1}^3 C_e^{(i)}(z^{-2}) b^{(i)}(z). \quad (3.7)$$

Take $\hat{e} \in E$, then from (3.7)

$$((-1)^{\hat{e}} z)^e = C_e^{(0)}(z^{-2}) a((-1)^{\hat{e}} z) + \sum_{i=1}^3 C_e^{(i)}(z^{-2}) b^{(i)}((-1)^{\hat{e}} z),$$

namely

$$(-1)^{\hat{e} \cdot e} = z^{-e} C_e^{(0)}(z^{-2}) a((-1)^{\hat{e}} z) + \sum_{i=1}^3 z^{-e} C_e^{(i)}(z^{-2}) b^{(i)}((-1)^{\hat{e}} z).$$

By Lemma 2.1 and (2.7) we obtain the equations which are equivalent to (3.7):

$$C^{(0)}(z^{-1})a((-1)^{\hat{e}}z) + \sum_{i=1}^3 C^{(i)}(z^{-1})b^{(i)}((-1)^{\hat{e}}z) = 4\delta_{e_0\hat{e}}, \quad \hat{e} = e_0, e_1, e_2, e_3. \quad (3.8)$$

Let $\Delta(z)$ denote the coefficient determinant of (3.8). If

$$\Delta(z) \neq 0 \quad (3.9)$$

in a neighborhood of ∂D , the equations (3.8) (about unknown $C^{(i)}(z^{-1})$, $i = 0, 1, 2, 3$) are solvable; furthermore the solutions $C^{(i)}(z^{-1})$ ($i = 0, 1, 2, 3$) are analytic in a neighborhood of ∂D . Hence there exist sequences $\{C_{\alpha}^{(i)}\}_{\alpha \in \mathbb{Z}^2}$ ($i = 0, 1, 2, 3$) with exponential decay such that

$$C^{(i)}(z^{-1}) = \sum_{\alpha \in \mathbb{Z}^2} C_{\alpha}^{(i)} z^{\alpha}$$

for $z \in \partial D$. From the above discussion we know that the sequences $\{C_{\alpha}^{(i)}\}_{\alpha \in \mathbb{Z}^2}$ are what we want to find. Thus it remains to verify (3.9). By the definitions of $b^{(i)}(z)$ the direct calculation shows

$$\overline{\Delta(z)} = -I(z^2) \sum_{e \in E} (I((-1)^e z) a((-1)^e z))^2.$$

From Lemma 2.2 and the hypothesis (3.1) we know $\overline{\Delta(z)} \neq 0$, $z \in \partial D$, namely $\Delta(z) \neq 0$ in a neighborhood of ∂D by the continuity as required.

Next we show that if sequences $d^{(i)} = \{d_{\alpha}^{(i)}\} \in l^2$ ($i = 0, 1, 2, 3$) satisfy

$$\sum_{\alpha \in \mathbb{Z}^2} d_{\alpha}^{(0)} \phi(x - \alpha) + \sum_{i=1}^3 \sum_{\alpha \in \mathbb{Z}^2} d_{\alpha}^{(i)} \psi^{(i)}(x - \alpha) = 0, \quad (3.10)$$

then $d^{(i)} = 0$, $i = 0, 1, 2, 3$.

In fact, using Fourier transform, from (3.10) we have

$$d^{(0)}(z^2)a(z) + \sum_{i=1}^3 d^{(i)}(z^2)b^{(i)}(z) = 0, \quad z \in \partial D, \quad (3.11)$$

where $d^{(i)}(z)$ is the symbol of the sequence $\{d_{\alpha}^{(i)}\}$.

Respectively taking $(-1)^{e_0}z$, $(-1)^{e_1}z$, $(-1)^{e_2}z$, $(-1)^{e_3}z$ in (3.11), we obtain the equations about the unknown $d^{(i)}(z^2)$:

$$\begin{aligned} d^{(0)}(z^2)a(z) + \sum_{i=1}^3 d^{(i)}(z^2)b^{(i)}(z) &= 0, \\ d^{(0)}(z^2)a((-1)^{e_1}z) + \sum_{i=1}^3 d^{(i)}(z^2)b^{(i)}((-1)^{e_1}z) &= 0, \\ d^{(0)}(z^2)a((-1)^{e_2}z) + \sum_{i=1}^3 d^{(i)}(z^2)b^{(i)}((-1)^{e_2}z) &= 0, \\ d^{(0)}(z^2)a((-1)^{e_3}z) + \sum_{i=1}^3 d^{(i)}(z^2)b^{(i)}((-1)^{e_3}z) &= 0 \quad (z \in \partial D). \end{aligned} \quad (3.12)$$

The determinant of (3.12) is also $\Delta(z)$. Since $\Delta(z) \neq 0$, $z \in \partial D$, it follows that

$$d^{(i)}(z^2) = 0, \quad i = 0, 1, 2, 3, z \in \partial D.$$

Hence $d^{(i)} = 0$, $i = 0, 1, 2, 3$.

Thus the conclusion (1) has been proved.

Finally we will show that $\{\psi^{(i)}(x - \alpha)\}_{\alpha \in \mathbb{Z}^2}$ satisfy the conclusion (2) of the theorem. Let $C = \{C_\alpha\}_{\alpha \in \mathbb{Z}^2} \in l^2$. We should show that there exist constants A and B ($0 < A \leq B$) such that

$$A\|C\|_{l^2} \leq \left\| \sum_{\alpha \in \mathbb{Z}^2} C_\alpha \psi^{(i)}(x - \alpha) \right\|_{L^2} \leq B\|C\|_{l^2}. \quad (3.13)$$

It is clear that (3.13) is equivalent to

$$0 < A \leq \sum_{\alpha \in \mathbb{Z}^2} |\hat{\psi}^{(i)}(\omega + 2\pi\alpha)|^2 \leq B, \quad (3.14)$$

(see the proof of Lemma 2.2).

Noting the constructions of $\psi^{(i)}(x)$, we have

$$\begin{aligned} \sum_{\alpha \in \mathbb{Z}^2} |\hat{\psi}^{(i)}(\omega + 2\pi\alpha)|^2 &= 2^{-4} \sum_{e \in E} |b^{(i)}((-1)^e z)|^2 \left(\sum_{\alpha \in \mathbb{Z}^2} |\hat{\psi}(\frac{\omega}{2} + \pi e + 2\pi\alpha)|^2 \right) \\ &= 2^{-4} \sum_{e \in E} |b^{(i)}((-1)^e z)|^2 I((-1)^e z) \\ &= 2^{-4} \sum_{e \in E} |I((-1)^e z) a((-1)^e z)|^2 I((-1)^e z), \quad z \in \partial D. \end{aligned}$$

In view of the condition (3.1), Lemma 2.2 and the compactness of ∂D we know that there exist constants A ($A > 0$) and B ($B \geq A$) which satisfy (3.13). Thus we complete the proof of the theorem.

§4. Further Results

Suppose that $\phi(x)$ generate the multiresolution analysis studied in the above sections. If in addition

$$\int_{\mathbb{R}^2} \phi(x) \overline{\phi(x - \alpha)} dx = \delta_{0\alpha}, \quad \alpha \in \mathbb{Z}^2,$$

we can obtain more about this important case in wavelet decompositions.

Theorem 4.1. Suppose $\phi(x)$ generate the multiresolution analysis described above. In addition suppose

$$\int_{\mathbb{R}^2} \phi(x) \overline{\phi(x - \alpha)} dx = \delta_{0\alpha}, \quad \alpha \in \mathbb{Z}^2 \quad (4.1)$$

and $a(z)$ is a real function ($z \in \partial D$). Then we have

- (1) $I(z) = 1$;
- (2) $\langle \psi^{(i)}(x), \psi^{(i)}(x - \alpha) \rangle = \delta_{0\alpha}$, $\alpha \in \mathbb{Z}^2$, $i = 1, 2, 3$;
- (3) $\langle \psi^{(i)}(x), \psi^{(j)}(x - \alpha) \rangle = 0$, $\alpha \in \mathbb{Z}^2$, $i \neq j$, $i, j = 1, 2, 3$;
- (4) $\sum_{e \in E} (a((-1)^e z))^2 \neq 0$.

Here $\psi^{(i)}(x)$ are defined as in Theorem 3.1. Thus we have

$$W_0 = W_{01} \oplus W_{02} \oplus W_{03}, \quad W_{0i} = \overline{\text{span}}\{\psi^{(i)}(x - \alpha), \alpha \in \mathbb{Z}^2\}.$$

Proof. By Theorem 3.1. The details are omitted.

Finally as a consequence of Theorem 3.1 we show that in the case $s = 2$ box splines of three directions generate wavelet decompositions. It is well known that in the case $s = 1$ the wavelet decompositions which are obtained with use of the B -splines were widely applied in practical fields. We believe that in the case $s = 2$ the wavelet decompositions generated by box splines will play an important role as B -splines do in the case $s = 1$.

A detailed knowledge of box spline theory can be gained from [2,5]. Let $x^1 = (0, 1)$, $x^2 = (1, 0)$, $x^3 = (1, 1)$. Box splines of three directions x^1, x^2, x^3 are

$$B(x) = B(x|x^1, \dots, x^1; x^2, \dots, x^2; x^3, \dots, x^3).$$

It is known that $B(x)$ generates a multiresolution analysis^[3]. By Theorem 3.1 it is clear that the wavelet decompositions can be obtained if $B(x)$ satisfy the condition (3.1). Now we will verify it. It is obvious that we only need to consider the simplest case $B_1(x) = B(x|x^1, x^2, x^3)$.

For the box spline $B_1(x)$ there exists a sequence $\{a_\alpha\}_{\alpha \in \mathbb{Z}^2}$ satisfying

$$B_1(x) = \sum_{\alpha \in \mathbb{Z}^2} a_\alpha B_1(2x - \alpha).$$

Let $z = (z_1, z_2) = (e^{-i\frac{\omega_1}{2}}, e^{-i\frac{\omega_2}{2}})$, $\omega = (\omega_1, \omega_2)$.

$$\hat{B}_1(\omega) = \left(\frac{1 - e^{-i\omega \cdot x^1}}{i\omega \cdot x^1} \right) \cdot \left(\frac{1 - e^{-i\omega \cdot x^2}}{i\omega \cdot x^2} \right) \cdot \left(\frac{1 - e^{-i\omega \cdot x^3}}{i\omega \cdot x^3} \right),$$

$$a(z) = \frac{\hat{B}_1(\omega)}{\frac{1}{2} \hat{B}_1(\frac{\omega}{2})} = \frac{1}{2} (1 + z_1)(1 + z_2)(1 + z_1 z_2).$$

By some calculation we can obtain $\sum_{e \in E} (I((-1)^e z) a((-1)^e z))^2 \neq 0$. Hence the condition (3.1) is satisfied by $B_1(x)$.

Acknowledgement. The main results of this paper were obtained when the author visited Freie Universität Berlin during August 1990. The paper was completed in Zhejiang University. The author would like to thank Professor Dr. W. Dahmen for his helpful suggestion, discussion and involvement.

REFERENCES

- [1] Battle, G., A block spin construction of ondelettes, *Commun. Math. Phys.*, **110** (1987), 601.
- [2] de Boor, C. & Höllig, K., B -splines from parallelepipeds, *J. Analyse Math.*, **42** (1982), 99-115.
- [3] Cavaratta, A. S., Dahmen, W. & Micchelli, C. A., Stationary subdivision, IBM Research Report 15194, Yorktown Heights.
- [4] Chui, C. K. & Wang, J., A general framework of compactly supported splines and wavelets, CAT Report 219, 1990.
- [5] Dahmen, W. & Micchelli, C. A., Recent progress in multivariate splines, in *Approximation theory IV*, C.K.Chui, L.L.Schumaker and J.Ward (eds.), Academic Press, New York, 1983, 27-121.
- [6] Daubechies, I., Orthonormal bases of compactly supported wavelets, *Comm. Pure and Appl. Math.*, **41** (1988), 909-996.
- [7] Krantz, S. G., *Function theory of several complex variables*, Wiley - interscience publication, 1982.
- [8] Mallat, S. G., Multiresolution approximations and wavelet orthonormal bases of $L^2(\mathbb{R})$, *Trans. Amer. Math. Soc.*, **315** (1989), 69-87.
- [9] Riemenschneider, S. D. & Shen, Z., Box splines, cardinal series and wavelets, in *Approximation theory and function analysis*, C.K.Chui (ed.), Academic Press, 1990, 1-14.
- [10] Stein, E. M. & Weiss, G., *Introduction to Fourier analysis on Euclidean Spaces*, Princeton University Press, 1971.